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INSTRUCTION TO CANDIDATES
Immediately after getting the Booklet read instructions
carefully, mentioned on the front and back page of the
Question Booklet and do not open the seal given on the right
hand side, unless asked by the invigilator. Do not accept a
booklet without sticker-seal and do not accept an open
booklet. As soon as you are instructed to open the booklet in
the first 5 minutes you should compulsorily tally the number
of pages and number of questions in the booklet with the
information printed on the cover page. Faulty booklets due
to pages/questions missing or duplicate or not in serial order
or any other discrepancy should be got replaced immediately
within 5 minutes. Afterwards, neither the Question Booklet
will be replaced nor any extra time will be given.

Write your Roll No.,, Answer-Sheet No., in the specified places
given above and put your signature.

Make all entries in the OMR Answer-Sheet as per the given
instructions, otherwise Answer-Sheet will not be evaluated.
For each question in the Question Booklet choose only one
correct/ most appropriate answer, out of four options given
and darken the circle provided against that option in the
OMR Answer-Sheet, bearing the same serial number of the
question. Darken the circle with Black or Blue ball-point
pen only,

Darken the circle of chosen option fully, otherwise answers
will not be evaluated.

Example : @ . © @ If (B) is correct answer.

There are 100 objective type questions in this Question
Booklet. All questions are compulsory and carry 2 marks each.
Do not write anything anywhere in the Question Booklet or
on the Answer-Sheet except making entries in the specified
places. Rough work is to be done in the space provided in
this booklet.

When the examination is over, original OMR Answer Sheet is
to be handed over to the invigilator before leaving the
examination hall, while the Question Booklet and carbon
copy of the Answer-Sheet can be retained by the candidate.
There is no negative marks for incorrect answer.

Use of any calculator/log table/mobile phone is prohibited.
In case of any ambiguity in Hindi & English versions, the
English version shall be considered authentic. For
Technical words terminology in English shall be
considered as standard.
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GEOGRAPHY - 11

Y - 11

1.

Iron rich rocks are weathered to produce
rust by :

(A) solution
(B) oxidation
(C) carbonation

(D) hydration

Given below are two statements one
as Assertion (A) and other one as
Reason (R).

Assertion (A) : Tropical seas in India are
rich in fish species but there are few
important fishing grounds around the

C ouniry.

Reason (R) : The quantity of fish of a
particular species is lacking and hence not
commercially exploitable.

Select correct answer from the following
codes :

(A) Both (A) and (R) are true and (R) is
the correct explanation of (A).

(B) Both (A) and (R) are true but (R) is
not the correct explanation of (A).

(C) (A) is true but (R) is false.

(D) (A) is false but (R) is correct.

Frafafea # | frad cers agH & smem
S B € ?

(A) e

(B) SATFITEYH

(C) wEMeE

(D) STerdrsH (eRgeH)

1= & e faw T ¥ U F wUA (A) qm
TEL & HIT (R) 81 7T 2 |

HAF (A) : 9RG H FOEHEEHT FHE W
wefedl & yefadl 4 w6 € W M d ¥
& Weaqul HEel Yhed & WH §

WIOT (R) : fafore wonfa 3 wofadi =1 amn
agd HY § 39 FRO IR FH T4g 76 2

71 @i 9 | Wl 3 1 w5 Fifen

(A) (A) 91 (R) 91 W&t & a1 (R), (A)
F1 et A T

(B) (A) T (R) 2 ®El & W (R), (A)
&I Hel =S 76 2

(C) (A) & 2 WY (R) e 2
(D) (A) 7o € T (R) T B
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“Social interaction is a process in which
human being interact in the mind of each
other” who gave this definition ?

(A) Maicaiwer
(B) Prof. Green
(C) Eldrig and Mairil

(D) Dasan and Gatis

Indian Ocean Dipole (IOD) is associated
with which of the
phenomenon i

following

(A) Earthquake
(B) Tsunami
(C) Cyclone

(D) Indian Monsoon

Which one of the following is considered
as the catalytic factor in Von Thunen’s
Model ?

(A) Market
(B) Transport Cost
(C) | Urban Centre

(D) Concentric Zones

3.

8.

“arefre g fman ue wiwan & foad wre
ww gt % feam # sfafwan v €1
oz aftumen forat €7

(A) HFaT

(B) .UM

(C) Ttufegn ue df@

(D) ¥w s e

qrrg weErR fgya (10D) Fefafes fee
e § Hetad 82

(A) 9
(B) gl
(C) sk

(D) YR AHYH

At g Hiew § Fefatas § @ frea
S R HI @ Torn e € 7

(A) =R

(B) wftE®a wwm

(C) W&l &=

(D) Hehdl &

SPACE FOR ROUGH WORK / 7% @i & foa we
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Match List-I with List-II and select the 6. |®T - I &1 g&t - 11 % MY faem Fifsg
correct answer from the codes given a1 fou T e | 9l IW gﬁq :
below :
List - I List - II T - 1 et - 11
(@) Thomas Saaty (i) Spatial (a) ofmm & (i) T =-
Auto Teqay
correlation
(b) Shannon (i) Hot spot (b) FA (i) ®ele-we
analysis fereetam
() Morans’ (iii) Entropy (c) AUHI (iii) Tt
analysis IEEGEL
(d) Getis-Ord Gi*  (iv) Analytic (d) <fed - AL (iv) SAveAEF
Hierarchy Aofrerg wiswar
Process -
Code : He:
(@) (b) () (d) (a) (b) (o) (d)
(A) @) () () (iv) (A) @) @ @) (@v)
(B) (v) (D) @) @ (B) (iv) (i) @) (@)
© Gv) (@) @ @ (€ (v) @) @ (@)
(D) (@) @ @v) (@) (D) @) () @) ()
Which of the following wind belts is 7. frafafes ® ¥ 31 W =993 ¥t a4
known as Hadley cell ? & A | S S E 2
(A) Polar easterlies (A) Y& & weA
(B) Doldrums (B) gy
(C) Westerlies (C) Yga1 9=
(D) Trade wind belt (D) =AM qaq-9et
SPACE FOR ROUGH WORK / T% &4 & fordt wirg
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8.  Walther Penck used the term 8. A WiawY, WEA oH & Ieuud H ‘iljf
to represent the characteristic landscape qeet Uk = H 3G
before upliftment in his model of cycle of Afyeraforer gy #1 9 F fau fF
erosion. qr
(A) Fastenbene (A) RS
(B) Boschungen (B) aErgH
(C) Primarumpf (C) YZERYE
(D) Haldenhang (D) ®EETET

9. Inan idealized fluvial geomorphic cycle, 9. TH eY TE9 YarmFfas 9% § Sreawrsi
the features which mark the maturity e Frefefas 7 4 $9-9 ¥2
are .

(a) valley widths are several times those (a) wfedi =t e famd Ufeal &1 e
of the meander belts q HE T A

(b) maximum possible relief (b) Afuwman Gufag s=mE=

(c) existence of water falls and rapids (c) fei % =t # eIt qen fafiemed
in the stream courses 1B

(d) well integrated drainage system (d) T8l TE | UHIPd 9EE 79

(A) (a), (b) and (c) (A) (a), (b) T (c)

(B) (b), (c) and (d) (B)  (b), (c) 7#T (d)

(©) (a). (b) and (d) (€) (a) (b) TN (d)

(D) (b) and (d) (D)  (b) 7= (d)

10. In transportation of continuous media  10. 3fEnfem fafear Izadw +1 sfeey anfifs
networks are economically viable only Y ¥ AuEd avdt dm € = |
when
(A) There is one time demand (A) UH SR &AM
(B) The supply and demand are large (B) qfd TS | Fed U A= @

and constant
(C) The supply is intermittent (C) g smemgef 2
(D) The demand and supply gap is less (D) i iR emyfd & F1 st @
SPACE FOR ROUGH WORK / 7% &4 & fod g
Set - A
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11.

12.

13.

14.

Which one of the following terms is  11.

appropriate for the mixing zone of two
biomes ?

(A) Environment
(B) Ecology

(C) Eco-sound
(D) Ecotones

Who among the following is known for 12.

emphasizing the role of the Tibetan
plateau in the mechanism of Indian
monsoon ?

(A) Halley
(B) Flohn
(C) Walker

(D) Koteswaram

Which one of the following are generated 13.

Tsunamis ?

(A) Tides

(B) Shrinking of the Earth’s crust
(C) Submarine Earthquakes

(D) Cyclones

Diego Garcia Island is located in which 14.

of the following Ocean ?
(A) Pacific Ocean

(B) Atlantic Ocean
(C) Indian Ocean

(D) Arctic Ocean

frafafea 7 & 1 w1 92 < sriEl % firem
& % fore wd &2

(A) STaTET
(B) fifeufosat
(C) wfaqeafy
(D) ufd-a

YRAE WAEA ®1 frarfary # fosmm & wer
&t e W A« Fefafas J fee femn?

(A) w&t A
(B) WM A
(C) @A
(D) =HIE¥TH A

At e # § oo SR Soa= det ®2

(A) TER-9EI
(B) 9= % wew 1 fagem

(C) TR F
(D) =shdrd

fewm mftan g fr=afafaa § 9 frg gemmm
¥ g g?

(A) W HEEIR
(B) &R@f=® TEEIR
(C) fo=wREm

(D) AThfe® HRMIR

SPACE FOR ROUGH WORK / 7% @19 & fod sg
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15. Consider the spatial resolution of the  15. e Haaahi (MSS) 3 i fasres w fimm
following sensors (MSS) : wHifer :
(a) LISS IV (a) fea® IV (LISS IV)
(b) Landsat (b) e HZ (Landsat)
(c) LISSIII (c) form I (Liss m)
(d) World view-2 (d) =€ ¥ - 2 (World view-2)
Arrange them in an ascending order. STIF 1 AR 70 T sgafaq Fifow .
(A)  (b), (9). (), (d) (A)  (b), (c). (a), (d)
(B) (a) (b). (c), (d) (B)  (a), (b), (), (d)
(©) (9 (b). (a), (d) (©) (© (b) (a), (d)
(D) (d), (), (b), (a) (D) (d). (c). (b), (a)
16.  Which of the following seismic waves  16. frfafaa yEda @i § 4 FH-9 v&r
pass through the mantle but not through (Hfeer) & @ ordm & Ty Fre @ w2
the core ? :
(A) P waves (A) Pl
(B) P, waves (B) P,
(C) S waves (C) sadi
(D) L waves (D) L&
17. Forward linkages facilitates : 17. SREE fodss gm g m & -
(A) Diversification (A) EHFETERRIA
(B) Unbalanced development (B) oregfera fawm
(C) Excessive Pressure on Resource (C) HaeT W sTfas 9R
(D) Social development (D) amfse famrma
SPACE FOR ROUGH WORK / T% &1 & ford wmg
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18. Match List-I with List-Il and select the ~ 18. =it - I =1 gelt - 11 % 9y fyer Fifeg

correct answer from the given codes : qen feu o e A | W6 W F I
HIfeT :
List - I List - II - 1 et - 1
(a) Areal (i) Sauer (a) &g fave (i) | =
Differentiation
(b) Behavioral approach (i) Hogget (b) SHERRATE IIFTH (i) @re
(c) Locational approach (iii) Hagerstrand () feafs samm (i) TREE
(d) Diffusion of (iv) Hartshorne (d) Fareas] = famm (iv) WA
Innovations
(v) Gould . 5%
Code : He
(@ (b) (o) (d) (@ () () ()
(A) (wv) () @ (@) (A) (iv) @) @ ()
(B) @) (v) @@ @) (B) (@) (v) @) ()
© Gv) (v @) () © Gv) (v) @) ()
(D) G) @) (v) (i) D) @@ @ () ()
19. Non-utilitarian resourcesare . 19. J-39AifamEE d@u= € :
(A) the resources whose value is social (A) R fauw qea =R e &
rather than practical TS HHITeh Bl §
(B) which are non-renewable resources (B) W -ty e g ®
(C) altered natural resources (C) ufEfda wienfas s @ @
(D) energy resources (D) el A

SPACE FOR ROUGH WORK / 7% & & ford =g
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20.  Under which of the following conditions 20,

inversion of temperature near the surface
may be produced ?

(a) long and clear winter night
(b) skies with dense low clouds
(c) snow-covered surfaces

(d) relatively dry air

(A) (), () and (d)
(B) (a). (c) and (d)
(€) (@) (b) and (¢)
(D) (a), (b) and (d)

21. Considering the following statement 21,

which are the correct answer ?

“The main objectives of Quantitative
Revolution Geography was to”.

(a) Make Geography an earth Science.

(b) Make Geography the geometry of
space.

(c) Develop Precise Regional Laws

(d) Develop Universal Laws in
Geography

Code :

“(A) (@), (b) and (c)
(B) (@) (c) and (d)
(©)  (b), (c) and (d)
(D) (a), (b) and (d)

Fefafea § 9 fFa goneil § amae & e
AIHH 1 Ifaeis & g & ?

(a) et A1 =D VidHEA T
(b) = =t areedt & 79 s
(c) fenr=sifen wae

(d) eTEFE I a1

(A) (b), (c) 7& (d)
(B)  (a), (c) 7 (d)
(©)  (a). (b) 7% ()
(D) (a). (b) 79 (d)

= Fol W faer # o vl v F
oo & =g |
‘AT wfEdT e w1 qe sivg

(a) SFie = et fagm == on)
(b) ier =t sFafiar =1 sqifufa a9 o1

(c) FuaZr &g T T e an 1
(d) it o wresifes ®e =1 fawm w5
901

q??‘:

(A) (a). (b) 3R (c)

(B) (a), (c) ¥R (d)

(©) (®) (c) ¥R ()

(D) (a), (b) 3 (d)

SPACE FOR ROUGH WORK / T% &g & fordr g
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22,

23.

24,

Where is highest salinity found ?
(A) Sambhar lake

(B) Mediterranean sea

(C) Red sea

(D) Van lake

Assertion (A) :

The land capability approach is that
where land was graded according to its
susceptibility to soil erosion under
differing farming and forestry systems of
production.

Reason (R) :

The most demanding systems of
production would therefore concentrate
on the best land and the most extensive
on the poorest.

Code :

(A) Both (A) and (R) are true and (R) is
the correct explanation of (A).

(B) Both (A) and (R) are true, but (R) is
not the correct explanation of (A).

(C) (A) is true but (R) is false.

(D) (A) is false but (R) is true.

As per Koppen's classification “DFC”
stands for :

(A) Cold Humid winter type
(B) Humid Mountain type
(C) Gangetic plain type

(D) Hot desert type

22

23.

24.

Aferhay TEvE Fel W S € 2
(A) Wi Fa
(B) ¥ WX
(C) e |IR

(D) = g

sfu=ReT (A) :

iy eman T T afe § e s #)
fom-firm w1 et wd nfveht d & saea
9 $1 T8 FTWET FI THH G &
SR T i fohan e &1

@RI (R) :

THIAY SERA # AEvas® 99 &1 S99 gfF
T g #fd FHER T W g S &
WY SH 29 $I HETGHT & |

e

(A) (A) #R (R) 2Ff §=1 € &R (R), (A)
T HE A A E |

(B) (A) 3 (R) &F 7 € T (R), (A)
T T AR TR B

(C) (A) ¥4 ¥ W (R) 379 B

(D) (A) 379 & W (R) T4 &1

FHINT F FHO F FTER S =
AT G ?

(A) ¥ia-31% IRy THR

(B) & ydd WK

(C) TIITg THae THR

(D) SO HEEE YhK

SPACE FOR ROUGH WORK / 7% @14 & f&d g
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25. What do you mean by ‘Lebensrum’ in  25. UsHifaF e § ‘TEwm’ A s =
Political Geography ? gl 82
(A) Dead Space (A) 99 =
(B) Living Space (B) 99 ®Ie
(C) Administrative Unit (C) wmEf® T
(D) Religious Organisation (D) wiffe Hmae
26. As per their launch date, what is the  26. 39 IgM fafer & AR fr= sy = wea
correct sequence of these satellites in SR 1 WE 9 T BT
desending order ?
(a) Cartosat 1 (a) WEIHE 1
(b) Resource Sat 1 (b) FEEEz1
(c) Oceansat 1 (c) ArEde 1
(d) Risat 1 (d) f&=1
(A) (@), (b), (), (@) (A) (@) (), (o), (@)
(B)  (d), (c), (b), (a) (B)  (d). (), (b), (a)
(©) (@) () (d). (b) (€ @) () (d), (b)
(D) (@), (a), (). (c) (D) (d). (@), (b), (c)
27. (A) The large seismically generated  27. (A) T F I | i gt &
sea-waves are known as Tsunamis. AT e S )
(R) Tsunamis are more frequent in the (R) &= we@rR #t gorn & woiig wemmn
Pacific Ocean than that of the | et yra: sfee o e §)
Indian Ocean.
Select your answer using following Frefafaa F2 &1 sw@Em w3 s s 5
codes : =g Hifag |
(A) Both (A) and (R) are true and (R) is (A) (A) ¥R (R) 3 5 € W (R), (A) 1
the correct explanation of (A). Hel = ¥
(B) Both (A) and (R) are true but (R) is (B) (A) ¥R (R) i 5= ¥ W (R), (A)
not the correct explanation of (A). HI TEt == 6 T
(C) (A) is true (R) is false. (C) (A)¥F §, (R) &5 B
(D) (A) is false (R) is true. (D) (A) #EAE R, (R) & 1
SPACE FOR ROUGH WORK / T% & & fotdl wme
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28.

29,

30.

Which of the following is the oldest
biosphere reserve in India ?

(A) Nanda Devi
(B) Nilgiri

(C) Sunderban
(D) Panchmarhi

Consider the major mile stones in the
history of GIS :

(a) GIS software development

(b) Cholera map

() Canadian land inventory

(d) Spatial analysis in decision making

Arrange them in a correct sequential
order.

(A) (@), (b), (c). (d)
(B) (), (). (@) (d)
© (@) (©) (®) (a)
(D) () (d), (a) (b)

Boundaries that are allocated and
delimited before significant settlement in

an area are called :

(A) Antecedent boundaries
(B) Subsequent boundaries
(C) Superimposed boundaries

(D) Relic boundaries

28.

29.

30.

ayd # frafafes & | #19 @1 emfaa
SEHvSE Fad IO § 7

(A) T=reEt
(B) T
(C) Weted
(D) HeEw

GIS ¥ sfaem ¥ g@a fagal w fa=m
FHIfT

(a) SM.METH. HRAN TTATHE
(b) =Hier AR

(c) FfeTa dve ek

(d) fiaa & zenfes faweiam

3% Wl SHH § aftem Fif

(A) (@) (b), (), (d)
(B) (b), (o). (a). (d)
© (d) () (b) (2)
(D) (), (d). (a), (b)

freit & # weel auE % vew fuifE
A aftHifaa S < St st ® HEd € -

(A) et Hm
(B) SwRal |rATg
(€ eremifua wand
(D) 7M™ Hmm

SPACE FOR ROUGH WORK / 1% &4 & foa s
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31. Arrange the following map types in  31. fa=ifefeag &9 yari % = & faeg
increasing order of representing Tty frremm o s svm o =yafiem #if
specificities as against generalities : :

(A) Qualitative Thematic-Quantitative (A) TR fawas-araras favas-
Thematic - Qualitative Non e TR ez g 17 favgs
Thematic - Quantitative Non
Thematic

(B) Quantitative Thematic - Qualitative (B) WHETHF fowa® - Tomers fawas -
Thematic - Qualitative Non ToNeRE TR faeae - ot i favas
Thematic - Quantitative Non
Thematic

(C) Qualitative Non Thematic- (C) TomeHe TR farsarss - a1 fawgs
Quantitative Non Thematic- - AR fauger - AT favg
Qualitative Thematic-Quantitative
Thematic

(D) Quantitative Thematic-Qualitative (D) WrETHE fawgs - R fawas -
Thematic - Quantitative Non AT 1 fasares - e iR e
Thematic - Qualitative Non
Thematic

32. Considering the following which of the 32. = = o famr Fifse 27 |E FyT F
statements are correct ? g wifaw
(@) Al-masudi translated Patanjali’s (a) m—ﬂ@ﬁﬁﬁf%ﬂﬁﬁﬁm
(b) Ibn-Batuta was appointed as the (b) T=-=z H A feeeht wega w0

ambassador of the Sultanate of g fgae fafan e ey
Delhi to China.

(c) Baitul-Hikma at Baghdad was () =TRR A aga-fewm w5t e wefie
founded by Caliph Al-Mamon. AA-UHT F fFar an)

(d) The Arabs borrowed the (@) awEi A i saurm ' %) fii
“Geocentric Concept” from Greeks. o farar

Code : e

(A) (a) and (b) (A) (a) 3R (b)

(B) (a) and (c) (B) (a) 3R (o)

(C) (b) and (d) (C) (b) 3R (d)

(D) (a), (b), () and (d) (D) (a), (b), (c) 3R (d)

SPACE FOR ROUGH WORK / 7% %14 & o wmg
[l
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33.

34,

35.

Which of the following are not true about
Christaller’s Central Place Model ?

(a) The central places of the same level
need not have the same functions.

(b) There are fixed relationships
between subsequent levels of central
places.

()  The higher order central places does
not necessarily have all the functions
of the lower order places.

(A) (a) and (b)
(B) (a) and (c)
(©) (b) and (c)
(D) (a), (b) and (c)

Which one of the following is not a
component of planning in India ?

(A) The Planning Commission of India
(B) The National Development Council
(C) The State Level Planning Board

(D) The Panchayat Level Planning
Committee

Who is the writer of “The Round World
and Winning the Peace”?

(A) Herbertson
(B) Machinder
(C) Stamp
(D) Roxby

33.

34.

35.

frmmr & $99 WH ufea & Hay o

freferfaa & = wdt = 27

(a) UHE W F Hed & | T & T
o ! 1 B STEYAH e 6 |

(b) & TE F swHE WU & ot iy
HHY BT € |

() T FH F Fa A § = w9
F Herd @ % g wE w1 g
HTEYIH TE 2

(A)  (a) T (b)
(B) (a) 941 (c)
(©)  (b) 7 ()
(D) (a), (b) 1 (c)

Frefafea & & $17 W wRa § 459 &1 06
FTE 77

(A) WRETE FrsHT A

(B) T fawm wfte=

(C) T Wi I g

(D) dH=mFa = A |fafa

‘g dave S we fafin fe 9w & daw
1 79 Y 7

(A) TEYH

(B) HfE==x

() ®m

(D) Vfereralt
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36. Amaravathi River is a tributary of : 36, HAHUEd! 7A5t =1 1 U werw e R .
(A) Krishna (A) oM
(B) Mahanadi (B) WRMal
(C) Godavari (©) et
(D) Kaveri (D) FEd
37. When the project tiger was started in 37, ‘¥R TR’ WG § FA g & foan w2
India ?
(A) 1963 (A) 1963
(B) 1973 (B) 1973
(C) 1983 (C) 1983
(D) 1993 (D) 1993
38. Whichone of the following is not correctly 38, Fr=fafas ¥ @ #F-a1 gafera & ® 2
matched ?
(A) Bora - Adriatic coast (A) @ - tfgafes sz
(B) Mistral - Southern France (B) g - zfamit wig
(C) Berg - Spain (C) = - o9
(D) Khamsin - Egypt (D) @A - g=itd
39.  Which of the following soils isrich inlime ~ 39. frefefiaa § & = f g I a9 R "
and iron but poor in Nitrogen, Phosphate 9 €, forg IUd edier, wigke s &g
and Humus ? i HH &2
(A)  Alluvium (A) UgErm
(B) Laterite (B) @rewEe
(C) Black soil (C) =nrem gat
(D) Red soil (D) o T
SPACE FOR ROUGH WORK / T% &1 % ferd wirg
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40. The tribal population of Andaman and  40.

41.

42,

43.

Nicobar islands belongs to :
(A) Australoid Race

(B) Caucasoid Race

(C) Mongoloid Race

(D) Negroid Race

Prof. S.P. Chatterjee has longitudinally 41.

divided the Himalayas into
divisions.

(A) 8

(B) 4
(C) 5
(D) 6

Which one of the following is correctly 42,

matched ?

(A) Dissolution Lake - Bhimtal
(B) Glacial Lake - Golina

(C) Tectonic Lake - Lonar

(D) Rockfall Lake - Wular

In East Asian Cultural realism modified 43,

culture is found.
(A) Buddhist
(B) Hindu
(C) Christian
(D) Islamic

#Henr ot FraEm goagd @ enfeard
(A) sferatss yeifa &

(B) Hrhurzs wifa #

(C) wielgs wsifa &

(D) fwies yenfa &

. T, b1, =2 + fewera wda gt = e
Eo ik it # fawfsa faa &1

(A)
(B)
(©)
(D)

S I = 0o

frfefas 3 @ S9-1 da w9t #2

(A) Taema gl - e
(B) fewada wiia - mifemn
(©) Taadfre | - @it
(D) SeTrd sie - e

ot wfera wiswfaw uftes o gwifia
_ wopfa oER o #

(A) Ffe=

B) =

(C) wuE

(D) FEATHH

SPACE FOR ROUGH WORK / 1% & & forar sme
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44. Central Arid Zone Research Institute is ~ 44. ¥z tfiz 9 fud T<iege fouq 2
located at :
(A) Kolkatta (A) e |
(B) Jodhpur (B) MR H
(C) New Delhi (C) % feoet §
(D) Dehradun (D) <EUEAH
45. The correct sequence in decreasing order ~ 45. 7= fRumu e gt 1 9RA H Fed Scared
in terms of total production of the given 1 TEl e HE €
non-ferrous metals in India.
(A) Zinc, Lead, Aluminium and Copper (A) TSi=, dim, uegfafem siv g
(B) Aluminium, Zinc, Copper and Lead (B) uegfafm, fo, dfen siv i
(C) Aluminium, Copper, Zinc and Lead (C) vegfafTam, aren, fos v e
(D) None of the above (D) I9Ea H | FrE 6
46. ‘Place - Work - Family’ to understand ~ 46. WHd WHERT F1 T934 # ‘©F - F@ -
Human Community, who’s concept ? ufar’ =t fafy foage faamr 22
(A) Herbertson (A) &I
(B) H.J. Fleure (B) TH. I "R
(C) Patrick Geddes (€) ufz= firdw
(D) Le play (D) ==
47. Champion Reef is a part of Dharwarian 47, 339 @ (vq@ de-fa), sranfen vzl
System that is famous for : F1 U N B S A ®
(A) Iron ore (A) i ug
(B) Gold (B) w&m
(C) Silver (C) =i
(D) Manganese (D) TS
SPACE FOR ROUGH WORK / % &1d & &g s
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48.

49.

50.

Birth
replacement levels in

rates have dropped below

(A) Palestine, Yemen, Afghanistan
(B) India, Bangladesh, Pakistan
(C) Zimbabwe, Bhutan, South Africa

(D) None of the above

Nations with a high density of population
have a threshold for defining

urban areas.
(A) Low

(B) High
(C) Relaxed

(D) Medium

Which of the following arrangements of
seas in decreasing order of salinity is

correct ?

(A) Red sea - Caribbean sea - Andaman
sea - Caspian sea

(B) Red sea- Andaman sea - Caribbean
sea - Caspian sea

(C) Caribbean sea - Red sea - Caspian
sea - Andaman sea

(D) Red sea - Caspian sea - Andaman
sea - Caribbean sea

48,

49,

50.

SR 2, % ioeemgd W fea S | e
TR ?

(A) U, T84, STHETHE
(B) ¥R, aiveey, Wit
(C) fomama, sm, 2fam siftram
(D) 3w H @ FrE &

Y SH-HI=al 9t T AT &3 & =
=4 ¥ foru et g &)

(A) =
(B) 3w
(C) faam

(D) weam

AV % HSd ®HH H T § 9 9IRI @
FI-H e war & ?

(A) wme wrR-Hfad grR-sveaE
TR~ o9 |rR

(B) el WMR-ATSHE IR -HOfamm
AR Hoqg "R

(©) Hofaa arm-are JR-$HeE aR-
3TUZHA |

(D) &7 AR HR-SAvEHM 9IR-
A |

SPACE FOR ROUGH WORK / 7% @1d & o we
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51. Inleast cost theory of A. Weber in 1909, 51. T. =% 1 1909 ¥ a9 @ fagia &
he proposed __ _ triangle to I 9t fagia # 9@ = ¥ fou
simplify his theory. e =1 ywe famn
(A) Production (A) e
(B) Labour (B) 4
(C) Locational (C) wenfant
(D) Distance (D) b

52.  Which one of the following clouds is an 52, f=fafea # & FF-W a”d w= w6 =
indicative of clear and dry weather ? Hrem 1 frdves 2
(A) Altostratus (A) TEErEH
(B) Cirrus B) fom
(C) Nimbus (C) fr=m
(D) Stratus (D) wH

53. Which one of the following is more  53. Wﬁﬁﬁﬂhﬁﬁ?'ﬂlﬁ?ﬁlﬂ? STCHHTATR Ol
important for retarding cultural % fero stfuss weeayof e #2
assimilation in India ?

(A) Economic Structure (A) f¥es dw=m
(B) Ethnic Composition (B) T TMSA

(C) Religious Structure (C) wififer He=m
(D) Linguistic Structure (D) Wl =

54. Which of the sequences of the following  54. @& & fr=feifiga g &1 vid & T =7 3in
elements of a slope from top to bottom is HH-HI HH TE B ?
correct ?

(a) waxing slope (a) = g (3fFEm) T
(b) free face (b) HH U=
(c) constant slope (¢) Ter (smftadwia) zm
(d) waning slope (d) =t g T
(A) (@), ®) () (d) (A) (@), (), (), (d)
(B)  (®). @), (c), (d) (B) (b), @), (c), (d)
(©) (). (). (), (d) (©)  (e) (b). (a), (d)
(D) (@), (d), (b). () (D) (@), (d), (b), (c)
SPACE FOR ROUGH WORK / T% &4 % ford g
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55. The Loop current flows : 55.

56.

(A)
(B)
(©
(D)

Consider the following statements 56.

between Java and Sumatra
in the Bering sea
between Cuba and Yucatan

in the English Channel

regarding the Quarternary Activities :

(a)

(b)

(©)

(d)

These activities involve collection,
Production and dissemination of
information.

They are tied to resources, affected
by the environment or necessarily
localized by market.

These activities center on research
and development.

Like some of the tertiary functions,
Quarternary activities cannot be
outsourced.

Select the correct answer using the codes
below :

(A)
(B)
(©

(D)

(a), (b) and ()
(@), (c) and (d)
(a). (b) and (d)

(a) and (c)

T Y wafed B €

(A) @ ag A % &9
(B) @ftm\rR H

(C) &ga 91 g & g
(D) sfiem =7a |

=g foraremdl 8 deftm e waE
ﬁﬁ?‘dﬁﬁi‘l‘{:

(@) = wfafafu=i & gaisii +1 dugw,
3euTed us YNy wifie 2

(b) o EGl | €, eI § yuifad 31an
AR g AEYEF AR T T 54
feu g €1

(c) @ nfafafuat iy 3 fawm Ffea @
gl

(d) Tdra® HE F THE GG FE &
3 T& T - g
=1 %2 &% I7Em | w@ 59 g -

(A) (a), (b) 3R ()
(B) (a), (c) ¥R (d)

(€) (a), (b) 3R (d)
(D) (a) 3 (c)

SPACE FOR ROUGH WORK / % &4 & & s
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57. The concentric zone model studies the  57. fre T § TR § q-3wEm gEE A
land use in a city from the perspective TSI e R
of :
(A) Distance from city centre (A) TRFZ AT
(B) Direction from city centre (B) AR %z & fawmn
(C) Distance and direction from city (C) Nz ¥ it ug fam
centre
(D) Small pockets of land use (D) Y-3941 % &1 Yl
°8. Match List-I with List-Il and select the ~ 58. et - I H1 geit - 11 ¥ Fhfed #ih WEr
correct answer, TR FT I Hifea |
List - I List - II il - 1 et - 11
Agricultural systems Characteristics/ fava =t EabdEd LT /@
of the world Regions
(a) Mediterranean (i) Capital Intensive () EeHrE F0 (1) ot SR A
Agricultural farming GE|
system
(b) Livestock (i) Savannah (b) TYEEY (ii) HAT &
Ranching Region
(c) Commercial (iii) Winters are wet, (c) arforfies =mor (i) w1 H A, ey g
Grazing summers are dry EG IS
(d) Dairy farming  (iv) Temperate and (d) €& wffy (iv) Tiaiso] qgr FHeoy
Tropical Hicadg 79 yfy
Grasslands
Code : e :
@ () (o (9 @ () () (d
(A) (v) @) @ (i) (A) (v) @ @ (i)
(B) (i) () (v) (i) (B) () () (iv) (i)
©) (@) @) @) (v © @ @) @ @)
(D) @) @v) G @ (D) () (v) @) (@)
SPACE FOR ROUGH WORK / T% &1d & fodl g
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59. Match the List-I with List-IT and select ~ 59. Het - I &I gt - 11 % ¥ faam Fifag
the correct answer using the codes given ﬁmﬁqﬂqaﬂzﬁ#@mgﬁq:
below :

List - 1 List - 11 gt - 1 gt - 1
(Authors) (Concepts) (oE=®) (d&euT)
(a) Jean Brunhes (i) Determinism (a) < 3 @ FramEr
(b) O.HK. Spate (i) Neo- (b) dwEH T (i) TI-FEmER
Determinism

(c) G. Tayler (iii) Possibilism (c) Sft. TR (iii) HYrEETET

(d) Friedmick (iv) Probabilism (d) freHl® @ (iv) wE9EEdER
Ratzal
Code : §e

(@) (b) () (d) (@) (b) (¢ (d)
(A) (@) @) @) () (A) @O (@) () (iv)
(B) () (i) () (iv) (B) () () (i) (v)
(C) (i) (@v) (@) (@) (©) (@) (v) @) @)
(D) (i) (iv) () (i) (D) @) @v) @) (i)

60. Adjacency, proximity and connectivity 60. Gﬁemsm ETin I ATG=aa, FHear a9
are induced by _______ in GIS HETHAT a1 fim B €
coverage.

(a) Topology (a)  Srdrerrsi
(b) Digitization (b) fesieEsyE
(c) Modeling (c) Hisfam
(d) Manipulation (d) HrgereE
(A) (a) only (A) 9 (a)
(B) (b) only (B) & (b)
(€) (a) and (c) () (a) T (c)
(D) (b) and (c) (D) (b) T4 (c)
SPACE FOR ROUGH WORK / T% &1 & forel o1e
9210/TFU-GEQ/ELG-II 23 Set- A



61. Davis advocated which of the following  61. 2faq . TR Feusi #1 3afa ¥
theories of the origin of submarine Frefafea fogrt 3 @ fras qeer 42
canyons ?

(A) Diastrophic theory (A) veafasgul fagra

(B) Subaerial erosion theory (B) Yg= R fag=

(C) Submarine density current theory (C) =9 e T fagm
(D) Turbidity current theory (D) H® i fagr

62. Which one of the following is most  62. 9-fafawar § = ¥ o fim ¥ 4
important factor responsible for decline FIeh HIH AUl STl ¥ 7
of biodiversity ?

(A) Destruction of habitat (A) SAEE F1 faam

(B) Genetic assimilation (B) SR SAeEERR
(C) Controlling pest (C) e Sital st ferson
(D) Controlling predators (D) el =1 feam

63. In which of the following stages 63. T@hIE ¥ 3raR FrefafEs oroeensh §
according to Mumford, the city starts s T g IR B W E 2
decaying ?

(A) Police (A) wfem
(B) Eopolis (B) zAmIfey
(C) Megalopolis (C) wierdifeg
(D) Tyranopolis (D) =EGIfeS
SPACE FOR ROUGH WORK / T% &4 & fod sg
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64.

65.

Consider the following statements about
Eratosthenes.

(a) He believed in the spherical sphere
shape of the earth.

(b) He was the first to calculate the size
of the earth.

(c) He calculated the position of the
tropics at 24 degrees.

(d) His period preceded that of
Theophrastus.

Code :

(A) (), (b) and (c)
(B) (b), (c) and (d)
(C) (@), (c) and (d)

(D) (@), (b), (c) and (d)

The cause of volcanic eruption in the

Hawaiin Islands is :

(A) Hawaiiis situated over a hot mantle
plume

(B) It is situated on convergent plate
margins

(C) It is situated on divergent plate
margins

(D) It is situated on folded rocks below

64.

65.

ufErafs F favg § f=fafes woH
ﬁil'l'{a'ﬁﬁl'[l:

(a) 9= F 0 favam o1 & e ¥

(b) &% 9w =afad o1 s geslt & amn
! O H |

(c) 387 24 feuft w oifuss =t feufa =i
T T |

(d) mﬁmmﬁﬁmﬂqﬁﬁ
Fafy o |

FT
(A) (a), (b) T (c)
(B)  (b), (c) @41 (d)
(©) (@) (c) 741 (d)

(D) (@), (b), (c) T (d)

TAT G H SArergEr % I S FHR T

(A) o U T Hfew wm (ER) W fem
€

(B) @& Al wre farri ot feom @

(C) % H9arl i forani ox o &

(D) =% 4 afea wgr W fem
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66. By which of the following letter symbols ~ 66. U 3 WEEyeld Serarg # Fr=fafed § 4
did Koppen designate desert climate ? e =mi-wdis & fafea faar?
(A) BW (A) BW
(B) Cf (B) Cf
(C) Aw (C) Aw
(D) BS (D) BS
67. The deepest part of the Mariana trenchis ~ 67. HfeT1 @ =1 gad meq 74 frferfaa & @
known as : FH-T 2
(A) Swire deep (A) TR T
(B) Challenger deep (B) —=eisw T
(C) Sunda deep (C) Hs1d
(D) Tonga deep (D) M
68. Which of the following is considered to ~ 68. Warel fatsm #1 frfafaa & 4 fiFd wya
be the major cause of coral bleeching ? U] HAT el & ?
(A) Global warming (A) YHYSEE FoA
(B) Too much photosynthesis (B) 3Tl Wahrel Hyeisor
(C) Too much rainfall (C) sTafus aui
(D) Too little rainfall (D) o= aui
69. A thunderstorm is associated with : 69. dfea den frus Ty gag &7
(A) Altostratus cloud (A) I=FH 9_A
(B) Cirrus cloud (B) &Y S
(C) Cirro-cumulus cloud (C) wemy 9T aeet
(D) Cumulonimbus cloud (D) Furdt a9 (qHA) e
SPACE FOR ROUGH WORK / T% &1 & fod wrme
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70.

71.

72.

The concept of Primate City was
proposed by :

(A) Ziff

(B) Jefferson

(C) Geddes

(D) Childe

Which of the following characterise an air
mass ?

()

This is an extensive body of air.

(b) Its temperature and moisture tend
to attain equilibrium with the large
and uniform surface in a couple of
days.

(c) Variable temperature and humidity
horizontally and vertically.

(d) Cold air mass is marked by
instability and atmospheric
turbulence.

(A) (), (b) and (c)

(B) (a), (b) and (d)

(€) (b), (c) and (d)

(D) (a), () and (d)

Plants behave as xerophytes at one season
and as hydrophytes at another season are
known :

(A) Hetrophytes
(B)
(©)
(D)

Tropophytes
Omniphytes
Tropomniphytes

70.

71

72.

‘yraie fadt’ 1 e fRee wEgE w2

(A) %A
(B) SIHLEA A
(C) 2™
(D) e

IR # Prfafea § 4 $E-d v
g7
(a)
(b)

o U forga arg 99E ¥

THHT A9EH a1 2 FB 9 A |
Feq TH GHEY €Uad & 99 Heer
=1 feafq & am st B

(c) T TH AEen | &ftst qen seAier
firan :

32t arg T § sAfkea qun IgHEEa
feredrsy arn SN #

(A)
(B)
(©)
(D)

(a), (b) T (c)
(a), (b) @I (d)
(b), (c) 91 (d)
(a), (c) 7T (d)

WY S TH g H SUEES T T HAAEH

T ¥ 3T TEL g H eEErEEe W H FEER
w10 1 ITRI F @ e &2

(A) ¥Eremed
(B) grdrHIEH
(C) ai-TREEy

1!". 5 B
9210/TFU-GEO/ELG-II
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73. Which of the following is not a 73.

biogeochemical cycle ?
(A) Carbon cycle

(B) Nitrogen cycle
(C) Cycle of erosion

(D) Oxygen cycle

74.  Match the following inceptions with time ~ 74.

period :
List - I List - I

(a) Quantitative (i) 1980s
revolution in
Geography

(b) Map analysis (i) 1970s
and modeling
in GIS

(c) Computer (iii) 1990s
mapping,

(d) Spatial (iv) 1960s
Database
management

Code :

@ ® (@ (@
(A) (@) @v) @ (i)
(B) () (i) (@) (i)
© @ @ @) @)
(D) () @) @v) ()

Frfefed & & 37 @ Y9 y-womt 9%
T 22

(A) w6 I

(B) RIS W
(C) ST o
(D) Hiedis =%

frefafan fawal & yiyw +1 39% gog

m%maﬁmﬁm:
EIT - 1 et - 11
(a) el H )  1980s
RlEIIED
A uftada

(b) METH.F () 1970s
A fagerm
R Lice|

() TFIR TAEAT (iii) 1990s

(d) T TEEE  (iv) 1960s
e

E &3

(@ (b (0 (@
(A) @) @v) @) (i)
(B) (v) @H) @ @
© @ @ @) @)
(D) (i) @) (v) (i)
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75. Who had told-"Geography

Chorological Science” ?
(a) George Fouster
(b) . Richthofen

(c) Carl Troll

(d) Hettner

Select the correct answer using codes

given below :

(A) (a) and (d)
(B) (b) and (c)
(€) (a) and (b)
(D) (b) and (d)

76. Machu Picchu of Inca Civilization is

located in :

(A) Columbia
(B) Peru

(C) Argentina
(D) Brazil

77. The equatorward part of the savanna is

known as :

(A) Transitional Savanna

(B) Parkland Savanna
(C) Grassland Savanna
(D) Midland Savanna

el T S s fa d
a7

(a) ISt W

(b) f=uFA

(c) Hict Zied

(d) TR

= feu %2 & W I = =

(A) (a) T (d)
(B) (b) T (c)
(C) (a) wd (b)
(D) (b) T (d)

g1 Tl 1 ATy ey el smaftm ¥

(A) lefaEr §
(B) UEH

(C) sri=tmH
(D) msirer |

HEMA H1 A H A F 9T FaAE
L&

(A) wHfusrEg e
(B) urhcis HaMI

(C) wTEEeE |arn
(D) WEALEHTE HaFT

SPACE FOR ROUGH WORK / % =1d & & s
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78. Tropical evergreen forestsare foundinthe 78, W WeefE a4 fr=fafad oui 4oit & &=

areas of rainfall ranging between : H 919 9 #
(A) less than 100 cms (A) 100 9.7 ¥ FH
(B) 100 - 200 cms (B) 100 % 200 ..
(C) 200-300 cms (C) 200 ¥ 300 &.H.
(D) more than 300 cms (D) 300 9.4 ¥ sfus

79. The endemic species of India are mainly ~ 79. WRa ¥ wnfa wnfaai Y. I < § -

found in :

(A) Eastern India (A) ot wRa o

(B) Central India (B) W YRd H

(C) North-East India (C) garR 9a o

(D) North-West India (D) I 9f¥=Ew 9a §

80. Which of the sequences of the following  80. #fH & HUR TR & f=fafas G5
concentric zones of city, according to HfesHl H HE ¥ AR & AT FH-T FH
Burgess, from centre to outward is e E?
correct ?

(a) Zone in transition (a) HHHU &7
(b)  Zone of better residences (b) H=m ERT &
(c) Zone of independent worker’s (c) *&dd HHF F ST &5
home
(d) Central Business District (d) HErE =R &
(A)  (d). (). (a). (b) (A)  (d), (c), (a), (b)
(B) (d), (@), (c), (b) (B) (d), (@), (o). (b)
(©) (), (d), (b), (a) (©) () (d), (b), (a)
(@) (@), (b), (0), (d) (D) (@), (b), (c). (d)
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81.

82.

83.

A lower threshold population is required ~ 81.

for

(A) Hypermarkets
(B) Furniture stores
(C) News agents

(D) Electronic goods stores

Which of the following mass movements  82.

are the types of landslides ?
(a) debris fall

(b) rock creep

(c) rock fall

(d) earthflow

(A) (a), (b) and (c)
(B) (b)and (c)
(€) (a) and (c)
(D)  (b), (c) and (d)

The improvement of human welfare 83.

without damaging the environment is
called :

(A) Regional Development
(B) Regional Planning
(C) Sustainable Development

(D) Resource Management

=1 Teelt sHEEm
HEEF £

% fou

(A) FEa-aSRI

(B) WATER B

(C) TR wfafFeii
(D) Fererifeh St e

frefafes § 9 #9-9 gomm (ufy) =
(9T HEHTH) EEE F YhE € ?

(a) e 9E
(b) ¥ wdor
() ¥ 9=

(d) yfFaE

(A) (a), (b) 9 (c)
(B) (b) T (c)
(©) (a) 7 ()
(D) (), (c) 7% (d)

AR Fi afa vgar fo e s #
TIq HA] T FHEAl & ?

(A) vRfE fawm
(B) i frarem
(C) Hdus fawm
(D) HHEA WEEA
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84. What happens in an El Nino year ?

(@)

(b)

()

(d)

(A)

(B)

(©

(D)

Warm water and low pressure
conditions develop in the eastern
Pacific (Peru).

Trade winds become strong.
Rain and floods in Indonesia.

Cold Peru Sea current is normal.

Only (a) is true
(a) and (b) are true
Only (d) is true

(b), (c) and (d) are true

g4. fwdlt ue it omer ad F = wfed S @2

()

(b)

(c)

(d)

(A)

(B)

(©)

(D)

et weE (%) H T e v T Ay
T@ it feafa fafifa & st €

AT FaTd a9 & Sl @ |

g 4 a9 vd 9@ |

21 e THE W W B e

F9E (a) 9El ©
(a) AT (b) TE &
Fae (d) TET &

(b), (c) e (d) W &

85. The smallest land area and highest  85. TT=a® Y-&= du sfereRan SH-Higal A
population density is in e
(A) Singapore (A) famR
(B) Maldives (B) WIwereH
(C) Malta (C) e
(D) Monaco (D) HFEmH
SPACE FOR ROUGH WORK / T% & & fod s
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86.

87.

Given below are two statements one

labelled as Assertion (A) and the other

labelled as Reason (R).

Assertion (A) : The
ideographic and
nomothetic was started
by David Hervey.

dichotomy of

Reason (R) : Ideographic and
nomothetic approaches

are concerned with the

particular and the
general laws
respectively.

(A) Both (A) and (R) are true and (R) is
the correct explanation of (A)

(B) Both (A) and (R) are true but (R) is
not the correct explanation of (A)

(C) (A) is true but (R) is false

(D) (A) is false but (R) is true

Intersect and sliver are

tools in GIS.

Union,

(a) Data entry

(b) Data editing

(c) Symbolization

(d) Data Analysis

Which of the above is correct ?
(A) (a) and (b)

(B) (b)and ()

(©) (c) and (d)

(D) (d) only

86.

87.

= 31 FoA faU 0¥ UE FOHGT (A) 94

THY %1 ST (R) 8T T # |

HYA (A) : wiafes wa fafumal &
fewrem efae od g wriy
e o)

yrafas wa fafus<l
AT, fa9y ud, s
F & Haifed %

I (R) :

(A) (A) 71 (R) &1 =&t ¥ 991 (R), (A)
=1 Gl =mE §

(B) (A) @ (R) T &E € W (R), (A)
FT e SR TE v

(©) (A) ®él ¥ W (R) Terd &
(D) (A) 7eTd € 9ig (R) T €

SleE e § 3R, T=wee 9w e

e
(a) =TI U w1 TE
(b) =T ufefdn w1 wh
(c) HiehfashToT 1 T
(d) S favero &1 T
I A W FE WA R ?
(A) (a) 941 (b)
(B) (b) @ (c)
(© (o) 9en (d)
(D) e (d)
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88. Which gas was leaked in Bhopal Gas  88.

“irret e st H for T o1 e gem o ?

accident ?
(A) C.F.C. (A) HIUEHL
(B) M.LC. (B) TH.IAEH
(C) Nitrogen (C) e
(D) Helium (D) #feas
89. The main causes of low pressure on 89. ﬁﬁ’(@‘ﬂ mm%ﬁqg@m T
equator are :
(a) High temperature (a) @ife arqEM
(b) High humidity (b) it s
(c) Convectional of air (c) oF T Hagrad
(d) Strong centrifugal force (d) wifsmemell smbfem aa
(A) (a) and (b) are correct. (A) (@) 3t (b) Tt {
(B) (a) and (c) are correct. (B) (a) 3 () wét €1
(C) (a) and (d) are correct. (Q) (a) ¥R (d) wél T
(D) (c) and (d) are correct. (D) (c) 3R (d) =&t )
90. Match List - I with List - I and select the ~ 90. ¥=f - I %I §ell - 11 % @1 e =ifsg
correct answer from the codes given a1 fau o #rs ¥ € 9l W g
below :
List - T List - I et - 1 gt - 11

(a) Nominal (i) Time series (a) IS (i) HHI UiHH TR
scale data Tt -

(b) Ordinal (ii) Temperature (b) SHAYE® (i) ATIEA HYA
scale measurement gl

(c) Interval (iii) Array (c) WHAR (i) ™
scale AT

(d) Ratio (iv) Classification (d) 39| (iv) Fae LT
scale only AT

Code : e
@@ (b) (g (d) @ (b)) (o (d)

(A) (@) @v) @ @) (A) (@) (@v) (@) (i)

B @O G @) () B @ @@ (i) (v)

© @) (v) (@) (i) © @ @) @ (i)

(D) Gv) (@) @) (@) (D) (v) (i) (i) ()
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91. Waves are on the surface of the sea : 91. YS! TAE W A el § :

(A) Longitudinal waves (A) e A
(B) Transverse waves (B) TrEEd
(C) Orbital waves (C) el i
(D) Gravity waves (D) &= a8

92. The length of railways per 1000 sq km. is 92, %fd 1000 = &t Y& # 9aQ sifes oward

longest in the state of : frawad §?
(A) U.P. (A) SwERwW
(B) Bihar (B) faR

(C) Punjab (C) d9=

(D) West Bengal (D) ufv=m sma

93. Which one of the following is a nodal 93, fi=fafas ¥ @ FF-WAsa 892 ?

Region ?
(A) Industrial Region (A) i 49

(B) Tribal Region (B) eIfG &5

(C) Metropolitan Region (C) ™R &+
(D) Central district in a state (D) T=a H 77 forem
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94. The pyramid of biomass in a grassland ~ 94. = &= WIRfefae 3 § a@mm faufre gm
ecosystem is : ¥
(A) Upright (broad base) (A) drenEs
(B) Inverted (B) e
(C) Horizontal (C) &fasia
(D) Parallel (D) HHMAFR
95. Which of the following can be used for 95, fr=fafag § 4 frwew! &g TafFT & fom
regional delineation ? I9T T S g2
(A) Gravity Potential Model (A) fafe defems aiea
(B) Rank Size Rule (B) = WS ®
(C) Losch Settlement Model (C) ek Ugerde Aisa
(D) Central Place Model (D) Hzer =W Afza
96. (A) Weathering, erosion transportation  96. (A) 3T9%/EY], Qe G0 33X faggor
and deposition are the main A ARG F e wiswand &)
processes of erosion.
(R) Running water is the most powerful (R) wr&el STel AWEA & fofu g s 8
agent of erosion.
Select your answer using following fFefafaa = 1 @M =1 a9d s F
codes : =TI FHIfU |
(A) Both (A) and (R) are true and (R) is (A) (A) 3R (R) T T & U4 (R), (A) 1
the correct explanation of (A). & RS |
(B) Both (A) and (R) are true but (R) is (B) (A) ¥t (R) i &= ¥ T (R), (A)
not the correct explanation of (A). 1 Hel A TE T
(C) (A) is true (R) is false. (C) (A) ¥ %, (R) 379 21
(D) (A) is false (R) is true. (D) (A)35TF &, (R) &9 &1
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97.

98.

GPS tells us the in an area.
(a) What

(b) When

(©) How

(d) Where

(A) (a) and (d)

(B) (a) and (c)

(€) (a) only

(D) (d) only

The following gives a sequence of the
settlement hierarchy from the largest to
the smallest unit :

(A) Primate city — Large town —
Farmstead — Village

(B) Large town — Conurbation — City
— Village

(C) Primate city — City —» Small town
— Farmstead

(D) Conurbation — Primate city —
Large town — Hamlet

97.

98.

fodt &= # GPs A €|
@) =|E

(b) =

© @&

(d) =R

(A) (a) 7o (d)

(B) (a) 91 (¢)

(C) <ae (a)
(D) e (d)

=1 werse F 4ot § SF-1 = @ g
EHE?

(A) WHH TR — o= & — HH-Jiasm
— T

(B) &l I — TR — TR — g

(C) THM TR — TR — Bl I — Fr-
BIEL=E]

(D) IR - ¥YH TR — o= 96 —
I9AH
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99. Which of the following landforms are 99, fre=fefas yensfadl & 4 fFae1 safy

produced by the endogenetic forces ? siqsiia &iell % BT Bt & 2
(a) nappe () T (3t )

(b) cuesta (b) ==

(c) faultline scarp (c) 9@ FR

(d) laccolith (d) ity

(A) all the four (A) @Yl =R

(B)  (b), (c) and (d) (B)  (b). () 7% (d)

(€) (a) and (d) (©) (a) 7o (d)

(D) (@), (c) and (d) (D) (), (c) e (d)

100. Which trophic level do the organisms that 100, TH Staes 5t 319 =@6E € 391 35 ST

can fix energy from inorganic sources into 4 Hafa #9 ¥ 9 wikfefis 3 F frg
organic molecules occupy ? e TR WA E 2
(A) Level IV (A) IV
(B) Level III (B) ®RIII
(C) Levelll (C) w1
(D) Levell (D) ¥XI
-00o- -o00o0-
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Note :

1. There are 100 objective type questions in this booklet. All questions are compulsory and
carry two marks each.

o

Indicate your answers on the OMR Answer-Sheet provided.

51

No negative marking will be done.
4. Use of any type of calculator or log table and mobile phone is prohibited.

5. While using OMR Answer-Sheet care should be taken so that the Answer-Sheet does not get
torn or spoiled due to folds and wrinkles.
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